1000 <Hy < 1500 GeV

Nj, Np

Mr; [GeV]

Z—vv

Lost lepton

Multjet

Total background

Data

2-3j,0b

200 — 400
400 — 600
600 — 800
800 — 1000
> 1000

130 £5(stat.) T2 (syst.)
36 +1(stat.) T5(syst.)
13 £0(stat.) +=4(syst.)

6.6 T03(stat.) £2.4(syst.)
3.0 £0.1(stat.) ﬂ:g(syst.)

88 7 (stat.) +16(syst.)
15 1(stat.) £3(syst.)
41 +0.3(stat.) +£1.1(syst.)
1.9 £+0.1(stat.) £0.7(syst.)
0.6 £0.0(stat.) +0.3(syst.)

19 £1(stat.) +6(syst.)

0.3 £0.0(stat.) 0.1(syst.)
0.03 £0.01(stat.) +0.01(syst.)
0.00 +0.00(stat.) +0.00(syst.)
0.00 £0.00(stat.) +0.00(syst.)

237 T3(stat.) T35 (syst.)

52 £2(stat.) +8(syst.)

17 £1(stat.) =-4(syst.)
8.5 £0.3(stat.) +2.5(syst.)
3.5 £0.1(stat.) 1.4(syst.)

2-3j,1b

200 — 400

400 — 600

600 — 800
> 800

19 £2(stat.) +4(syst.)

52 *8 g(stat ) ﬂé(syst.)
2.0 £0.2(stat.) +0.7(syst.)
1.6 +0.2(stat.) 0. 8(syst )

18 +3(stat.) +-4(syst.)

3.5 04 (stat.) £1.0(syst.)
0.7 iO 1(stat.) £0.3(syst.)
0.6 £0.1(stat.) +0.3(syst.)

6.5 +0.2(stat.) +2.4(syst.)
0.1 0.0(stat.) £0.0(syst.)
0.01 40.00(stat.) +0.01(syst.)
0.00 £0.00(stat.) +0.00(syst.)

44 T3(stat.) *6(syst )

8.8 +0g(stat ) £1.7(syst.)
2.7 *03(stat.) £0.8(syst.)
2.2 £0.2(stat.) +0.8(syst.)

2-3j,2b

200 — 400
> 400

1.0 T)Z(stat.) 0 (syst )
0.6 T3 (stat.) 7o 0 2 (syst.)

8 71 1(stat) +0.9(syst)
0.2 £0.1(stat.) +0.1(syst.)

1.0 0.0(stat.) £0.5(syst.)
0.02 +0.00(stat.) +0.01(syst.)

3.8 T3 (stat.) £1.2(syst.)
0.9 +3§(srat ) T0(syst.)

4—6j,0b

200 — 400
400 — 600
600 — 800
800 — 1000
> 1000

153 +5(stat.) f 5(syst.)
40 +1(stat.) tg(syst.)
14 £0(stat.) L=4(syst.)

5.7 £0.2(stat.) £2.1(syst.)
1.7 £0.1(stat.) £0.8(syst.)

147 +8(stat.) +-25(syst.)
21 £1(stat.) £4(syst.)
4.9 £0.3(stat.) +1.3(syst.)
1.8 £0.1(stat.) 0.6(syst.)
0.7 £0.0(stat.) +0.4(syst.)

118 +3(stat.) £23(syst.)
2.1 £0.3(stat.) £0.6(syst.)
0.2 +0.1(stat.) £0.1(syst.)

0.02 T003(stat.) 0.01(syst.)
0.00 Foop(stat.) +0.00(syst.)

418 T1l(stat.) T1o(syst.)
62 £2(stat.) T10(syst.)
19 £1(stat.) &-4(syst.)

7.5 £0.2(stat.) +2.2(syst.)
2.4 +0.1(stat.) +0.9(syst.)

4—6j,1b

200 — 400

400 — 600

600 — 800
> 800

38 +3(stat ) iS(syst )
9.3 *8 Z(stat ) +2: (syst )
3.3 £0.2(stat.) :tl 2(syst.)
1.5 +0.1(stat.) £0.7(syst.)

93 *{(stat.) +17(syst.)
11 £1(stat.) =2(syst.)
2.1 fg:%(stat.) +0.8(syst.)
0.4 £0.0(stat.) +0.2(syst.)

58 +2(stat.) £15(syst.)
1.0 *Oz(stat ) +0.3(syst.)
0.1 0.0(stat.) £0.0(syst.)
0.01 £0.01(stat.) +0.00(syst.)

188 5(stat.) £24(syst.)
21 £1(stat.) £3(syst.)
5.6 +0.3(stat.) £=1.4(syst.)
1.9 £0.1(stat.) £0.7(syst.)

4—6j,2b

200 — 400
400 — 600
> 600

6.1 712 (stat.) £2.5(syst.)
1.9 *04(stat ) £0.9(syst.)
1.2 £0.2(stat.) £0.7(syst.)

26 T3(stat.) +5(syst.)
2.6 1 4(stat ) +0.8(syst.)
0.9 j:O 1(stat.) £0.5(syst.)

15 £0(stat.) +=6(syst.)
0.3 +0.0(stat.) £0.1(syst.)
0.03 40.01(stat.) +0.01(syst.)

47 T3(stat.) £8(syst.)
4.8 £0.5(stat.) +1.2(syst.)
22 fg:g(stat.) +0.9(syst.)

> 7, 0b

200 — 400
400 — 600
> 600

20 +2(stat.) T (syst)
5.0 T0¢(stat.) 2 (syst)
1.5 +0.2(stat.) f o(syst.)

26 +4(stat.) +6(syst.)
3.3 £0.5(stat.) +1.0(syst.)
0.6 £0.1(stat.) +0.3(syst.)

28 £1(stat.) +8(syst.)
0.5 0.1(stat.) £0.2(syst.)
0.1 £0.0(stat.) 0.0(syst.)

74 T5(stat.) ﬂ%(syst.)
8.8 108 (stat.) T24(syst.)
2.1 4+0.2(stat.) +(J"(syst )

> 7, 1b

200 — 400
400 — 600
> 600

8.6 T13(stat.) T3 (syst )
2.1 "% (stat.) Tl t {(syst.)
0.8 +£0.1(stat.) +05(syst)

34 f%(stat.) +7(syst.)
3.4 £0.3(stat.) +1.0(syst.)
0.7 £0.1(stat.) +0.4(syst.)

18 Ti(stat.) £6(syst.)
0.3 0.0(stat.) £0.1(syst.)
0.03 0.01(stat.) +0.01(syst.)

61 *4(stat) +10(syst.)
5.8 +°z(stat ) Th(syst.)
1.5 T02(stat.) iO 7(syst.)

>7,2b

200 — 400
> 400

3.0 Tp3(stat.) T15(syst.)
0.6 tg %(stat ) iO 4(syst )

26 f%(stat.) +5(syst.)
2.3 £0.2(stat.) +1.1(syst.)

6.0 £0.2(stat.) 2.6(syst.)
0.1 £0.0(stat.) 0.1(syst.)

35 £3(stat.) £6(syst.)
3.0 £0.3(stat.) +1.2(syst.)

200 — 400
> 400

1.5 *09(stat) +1.1(syst.)
0.4 £0.2(stat.) 0.4(syst.)

3.5 13 (stat.) £1.3(syst.)
0.8 03 (stat.) 0.5(syst.)

2.2 +£0.1(stat.) +1.6(syst.)
0.04 +0.01(stat.) +0.03(syst.)

7.2 T18(stat.) +£2.3(syst.)
1.3 T4 (stat.) £0.6(syst.)

200 — 400
> 400

0.1 703 (stat.) £0.1(syst.)
0.02 *8 gg(stat ) *8 8g(syst )

10 £1(stat.) +3(syst.)
0.7 +0.1(stat.) +-0.4(syst.)

1.5 +0.0(stat.) £1.2(syst.)
0.03 4-0.00(stat.) +0.02(syst.)

12 £1(stat.) +3(syst.)
0.8 +0.1(stat.) +0.4(syst.)




